	1 вариант

	1. Представьте одночлен в стандартном виде, подчеркнув его коэффициент.
	Решение, ответ.

	а) [image: image2.png]1,5% - 8%





	

	б) [image: image4.png]




	

	в) [image: image6.png]—2ag® - 3a% - B





	

	2. Найдите значение одночлена.
	

	а) [image: image8.png]3,5%%;
;TPH X






	

	б) [image: image10.png];apux =7,y = 1,5






	


	2 вариант

	1. Представьте одночлен в стандартном виде, подчеркнув его коэффициент.
	Решение, ответ

	а) [image: image12.png]12y - 0,5y





	

	б) [image: image14.png]—g3 - 382





	

	в) [image: image16.png]—4x5
4x°y? - 3x - y*





	

	2. Найдите значение одночлена.
	

	а) [image: image18.png]—1,5a%;
;TIpH a






	

	б) [image: image20.png]—3ag;mpua=—2,58 =8





	


